Power and Sample Size of a Crossover Design

PASS Repeated Measures

The following analysis of variance was generated by NCSS for the response variable: TSEC.

Analysis of Variance Table
Source

Sum of
Mean

Prob
Power
Term
DF
Squares
Square
F-Ratio
Level
(Alpha=0,10)
A: Sequence
1
1,997432E-07
1,997432E-07
0,01
0,930779
0,101241
B(A): Subject
28
7,279934E-04
2,599976E-05



C: Period
1
4,468759E-05
4,468759E-05
2,86
0,102126
0,502155
AC: Sequence*Period
1
9,914092E-04
9,914092E-04
63,37
0,000000*
1,000000
BC(A)
28
4,380792E-04
1,564569E-05



S
0
0

Total (Adjusted)
59
2,174018E-03
Total
60
* Term significant at alpha = 0,10
Means and Standard Error Section



Standard
Term
Count
Mean
Error
All
60
1,822005E-02

A: Sequence
1
20
1,828125E-02
1,14017E-03
2
40
1,815885E-02
8,062221E-04
C: period
1
30
1,913542E-02
7,221655E-04
2
30
1,730469E-02
7,221655E-04
AC: Sequence,period
1,1
10
0,0235081
1,250827E-03
1,2
10
0,0130544
1,250827E-03
2,1
20
1,476273E-02
8,844684E-04
2,2
20
2,155498E-02
8,844684E-04
A value for the hypothesized interaction effects is to find the standard deviation of the interaction by taking the square root of the Sum of Squares for the interaction divided by the total number of observations. In this case,
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